Name: Period: Date:
Chemical Reactions Review

Test Format: 35 multiple choice, 5 fill-in the blank, 2 write the equation, 3 type of reaction anid
prediction,

D 1. A chemical reaction is a process in which:
a.  reactants change into products
b. substances with new physical and chemical properties are formed
¢ the law of conservation of mass applies

@ all of the abave

Zn + CuS0y = ZnS0O, + “+Cu

a. zinc and copper (?zinc and copper (11) sulfate
b. zinc sulfate and copper . only zinc

¥ C, 2. What are the reactants in @fﬂl[uwing chemical equation,

Q 3. What happens to the bonds between atoms in a substance that undergoes a
chemical reaction?
a. all single covalent bonds become double covalent bonds
b. some existing bonds will weaken while others will strengthen
existing bonds are broken and atoms are rearranged with the formation of new bonds
. bonds between atoms are unafYected during a chemical reaction

& 4. In a chemical reaction, the total mass of the substances before the reaction is:
equal to the total mass of the substances afier the reaction
usually smaller than the total mass after the reaction
c. usually greater than the total mass afier the reaction
d. sometimes greater, and sometimes smaller than the total mass alter the reaction

& 3. The numbers used to balance a chemical reaction are called:
. Superscripts c. subscripts
coefficients d. formula units

A 6. Which of the following types of reactions results in a single product?
direct combination reaction c. double replacement reaction
. single replacement reaction d. decomposition

b__ 7. What is the physical state of methane (CH,) in the following reaction?
CHa (2) + 02 (2) > COa (g) + HaO (g)
a. solid c. liquid
gas d. aqueous

Cl 8. A combustion reaction typically involves:
a. the production of a radioactive substance
something being burned
c. the synthesis of a hydrocarbon
d. the production of no new substances

ﬁ 9. Which of the following symbols indicated the addition of heat to a reaction?
(3a b. — c. d. (h)



Q 10, Which of the following is the coetficient lor water in the following cquation:
2AKOH); =2 3 10 + ALO;s 2
0l bh.2 @3 d. 4

Balance the following equations,

1. 4Al+50.() > 2ALOy

12. R FeCls + 3 (NH)LS > [ FeySy + (o NH,CI

13. 3 AgaSO4 + AAIBrs > o AgBr+ | AL(SOs)s
14. % NaOH + |_H;P04 (aq) > | NasPO, + 3 H,0
154 P+S 0, () >R P10

16. | SnCly + 4 KI > _| snly +4 KCI

17. 2 AL+ 3 11,504 (aq) > | AlL(SO); + 3 H; (g)
18. XA Zn+ | 0y(g)=> & Zn0

19..2 Ca$ + X HiPO4 (aq) > | Cas(PO); + 3 HyS

Write the following pyuatipns and balance. %;,- _ \-
20. aluminum and hydroch oric acid react to form aluminum chloride and hydrogen gas r,’ dm:hj N‘.{Q

AR - A () = B AUy 13, (y)

21. carbon and oxygen gas react to produce carbon dioxide
C + Dilgd—> Co..
22. calcium bicarbonate and caleium hydroxide react to yield calcium carbonate and water
XK (i), + Cwlow),— R0ald, 20 o nes
22 3. hydrogen sulfide and oxygen gas react to form water and sulfur NW
= 1 LT D;Uj) — S H 0 + 25 E‘-
23. 2% sodium hydroxide and calcium nitrate react (o yield sodium nitrate and calcium hydroxide
ANAOH  + Qoo — 2 Na(wos) + Calow),

24 24 potassium iodide and chlorine gas react to form potassium chloride and iodine

FRT + Wy(y) — AXKQ ~ 1alg)
r* . )
25, %6, s:I furgi'c acid and polassit‘r-n hydml;(ide react to produce potasspi*mn sulfgﬂe and water ( UH)

Hai0al0g) + KON = ¥or S04 + ANGE

-



27, calcium sulfate and sodium carbonate react o produce calcium carbonate and sodium sulfate

TRl \
W04+ Na D, —  Colo, v N S04

=
=

28. lcad (11) nitrate when heated decomposes to form lead (11) oxide and nitrogen dioxide and
OXVECD 2as

APD (W), —2> AP0 +#NOs + Dy,

Indicate the site a bglanced equation for the following. 7 Yumetk s
2k 29. cadmium nitrate and suguric acid H ‘{’_&9 Type: _ DR 7 wupd.s
B‘Q“ @PMN Onaage. places . Qe > (onp.
91 3. zinc and silver iodide Type: D Q. = E +(®
e % Cowp *One
SR- Jkews replass Likeo Cooplt cowp2>
AN 3T, iron (111) chloride and sulfuric acid Type: __ DR Conp3 ranpt
Comp—7 puwd
Qﬁ/ﬂ' bismuth sulfate and ammonium hydroxide Type:  PE
~_ -~
@ Cofuns swter
50-‘3‘.‘7 hydrogen iodide and oxygen Iype: R, .
R+

ik rplaws b, o
3\ .aﬂ'mlrgit.n gas and hydrogen gas —3 Qmﬁw& Type:  DC

3% Yober Prawon- = N tg
35, bartm-srtfate@id carbon e

36. alufium xide (he e — ~—

37. burning methane + -7 Ca(bb'ﬂbﬂ}’fm Typc ifl:ﬁﬁ]ﬁ!bk!ﬂ) ()ﬂb(ll\k(;
Cey 03»3 ~
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